j2q Junkkari

MAESTTRO

4000

ESIRG,

el

-TILLER
WITH CORRUGATED DISKS

PRE

e
i

USER GUIDE *
SPARE PARTS CATALOGUE

ENGLISH (€

[a)]
Zc i
LM&

Z M
Zoom
C®o
<o Y
=~
RS~
NAJ\w
>T ® o
=N
oI5Mn
T>+ M
C 1n +
k7 .
Eodx
SN W<
SO
N3 80VVv3

e-mail: junkkari@msk.fi
Internet: www.junkkari.fi




Contents

CONTENTS

DEAR CUSTOMER. ... ... e oo eeeeeseoseeeeeesees s eeeeeeee oo, 2

TECHNICAL SPECIFICATIONS ..o voveoeeseeseeseeseesseseeeeeeeseesesneseseeneeeeenen. 2

PURPOSE OF USE.........v.evovvoveeeseeseessneeesseseeseeseessesseneeeeseesesessneeneeeeeee. 3

OPERATING PRINCIPLE. ... .vevereossoneosesnssnessonnsssnsneenssnenssnssnsnnanseneneens 3

DELIVERY PACKAGE. .....v.vevvoveveeeeseeseeneseeeseeeeeseneneeneeeeeeseeseneeneenneneenes 3

INSTALLATION. ...+ v ve s 4

USE- v veese s e e et 5

SPARE PARTS CATALOGUE. ... .. .v.evoseosesesseseesseseseseoseosessesssesaesassesseseenees Vi
DEAR CUSTOMER

We thank you for your trust and wish you the best success in your work. We ask you to familiarize
yourself with this user guide, because complete understanding of the accessory, correct adjustments
and careful maintenance guarantee user safety and continued operation of the device on busy work
days.

It is important to understand every section in this guide and to follow the instructions. In unclear
cases you should contact the seller of the machine.

We hope that after you have read the user guide you will return the signed warranty card to the
factory within 14 days of the day of delivery.

WARNING!

This user guide is meant as an appendix to the Junkkari Maestro user guide.
Sections:

4 SAFETY INSTRUCTIONS

6.2 LIMITATIONS OF USE AND FORBIDDEN USES
TRANSPORT, HANDLING AND STORAGE OF THE MACHINE
1 PUTTING THE MACHINE IN WORKING ORDER
.5 DISPOSING OF PACKAGES

16 TROUBLESHOOTING

17 WITHDRAWAL FROM ACTIVE USE

18 TERMS OF GUARANTEE

19 SCOPE OF LIABILITY
as such pertain also to a separate pre-tiller.
Before installation and use familiarize yourself with the corresponding
instructions of the sowing fertilizer.

TECHNICAL SPECIFICATIONS

MAESTRO 3000 MAESTRO 4000
Working width, cm 300 400
Cutter disks, assembly 24 32
Row spacing, cm 12.5 12.5
Weight, kg 660 880

2



Purpose of use

WARNING SIGN

The user guide uses this sign always when there is a danger to the user or to
other people.

In addition, the sign is used when there is a danger to the environment or
property.

PURPOSE OF USE

The pre-tiller equipped with corrugated disks is meant as cutter disk set in direct sowing when the
Junkkari Maestro's own coulter weight is not enough to bury the seed and fertilizer deep enough. If the
pre-tiller is installed later, you must ensure that the cutter disks and coulters are precisely on the
same line, because the purpose of the cutter disks is to make a slit for the coulters travelling behind
it.

The pre-tiller is not recommended to be used with a packer, because in this case the tractor weight
cannot be moved to weigh on the tiller. Therefore use a normal tow bar and connect it to the tractor
towing hook. The tiller has been equipped with hydraulics cylinders with which you can raise or lower
the tiller disks, for example. The actual weighting takes place with an adjustable spring which has
been adjusted to a position suitable for most machines. When necessary, the adjustment can be
changed.

The machine is suitable only for the Junkkari Maestro sowing fertilizers.

With other applications ask a specialist for advice.

OPERATING PRINCIPLE

The purpose of the cutter disk set is to help the coulters to penetrate the seedbed when the coulters’
own pressure is not enough.

The cutter disks are corrugated so that they crumb down the slit they opened thus helping the
covering of seed and fertilizer particularly in moist environments.

DELIVERY PACKAGE

Maestro 3000 Maestro 4000
-Cutter disk set 1 pcs 1 pcs
-Hydraulics cylinders 2 pcs 2 pcs
-Hydraulics hoses 4 pcs 4 pcs
-Scale assembled 1 pcs 1 pcs
-Meter hand 1 pcs 1 pcs
-User guide 1 pcs 1 pcs



Installation

INSTALLATION

If the tiller is installed later, it requires a minimum of two people and also a suitable and safe lifting
device.

The tiller is installed in the brackets in the pulling device according to the pictures below, and
attached in place with the M20*50 screws and M20 nuts. There are 4 pcs of these screws and nuts. In
addition, the tiller is attached from the middle with an M20*200 screw and a nut. Two cylinders are
attached with mounting pins.

/!-Il‘ R
/ a s e

', {’%/ '-(11 ;’f,
=T/ r dud) 5/
\ = o { 9% >
A 8 WL/ (1 =1 | AT & Ll LR/ 4 4
- // AN 1 .Al Al ?
o h!"jﬂ‘_l 5“}’:]\[\%//?’ Ah o W‘Il‘ 1| 24 =W/, /
|| YY) Al —8 T ,
N T Q = Y e A
S ta)| JEN )

Working depth indicator




Use

USE

The ideal cutter disk working depth is the same as the working depth of the sowing coulters. The
adjustment of the work depth and weighing at the same time takes place with the help of the
hydraulic cylinders.

The weighing of cutter disks takes place in two ways: with hydraulic cylinders and spring leverage. If
you cannot reach a sufficient work depth by weighting with the hydraulic cylinders, you have to
tighten the springs.

In tight turns on very hard soil it is good to lessen the load on the cutter disk set. It is easy to return
to the normal working depth with the help of the indicator in the device.

Spring tightening nut

[T]
g 0 o
\ N
3 | @
9 > ° °
g 0 0 o



CUTTER COULTER AND COULTER FASTENER

Part

OCO~NOUPAWN -

Code

17434
17256
17385
D17255
D49001
B5G102524
AGG113014
A0CO0T4524
AGC113014
BH1N20021
Ce3205
B5COM2514
17118
17576
A0C2L1514
B5COR2124
A0C0S4524
AO0A201014
17162
AGA113014
17538
17573

Label Maestro 3000 PCS Maestro 4000 PCS
SHAFT TO CORRUGATED TILLER 24 32
TERMINAL 24 32
PROTECTIVE SOCKET 24 32
CORRUGATED DISk 24 32
STE FA30*47*7 24 32
BED-PLATE M16 24 32
6 NUT IL M16 24 32
M12x30 96 128
HEX NUT IL M12 96 128
SEGER RING 52X2 24 32
ANGULAR CONTACT BALLBEARING 3205A 2 RS 24 32
SPRING BED-PLATE M12 96 128
COULTER FASTENER 24 32
FASTENER ROD 24 32
HEX SCREW M12*80 24 32
BED-PLATE M12 48 64
HEX SCREW M12*25 24 32
HEX SCREW M10*60 48 64
PLASTIC BEARING 48 64
HEX NUT M10 IL 48 64
CUTTER COULTERASSEMBLED. PARTS 1-12 24 32
COULTER FASTENER ASSEMBLED. PARTS 13-20 24 32



HYDRAULICS HOSES AND CYLINDER

Part Code

1 18060

2 D30000211
3 D12376

4 17497

5 B5G102524
6 17753

7 AGG113014
9 17655

10 Be8600002
11 D14441

12 D30000379
13 D14440

14 D30000212
15

16 C23072-08

Label

CYLINDER

GASKET 3/8”

DOUBLE NIPPLE 3/8”

CYLINDER ATTACHMENT SCREW
BED-PLATE M16

BUSHING

HEX NUT M16

CYLINDER PIN

RING COTTER

HYDRAULIC HOSE

T JUNCTION %"

HYDRAULIC HOSE

US IT 2"

REDUCTION NIPPLE 202-04-08
QUICK COUPLING MALE

A RARPRANAADN

NNAEANNBENDDN

ABRBANAEAN

NNAENNDENDN

Maestro 3000 PCS Maestro 4000 PCS

V2






—
m O

< <

AN N

O M
Ot NN NN =A<t NN< LN <t 00— 000 00

O
NOSTOMANrETr—TMMNeeAArt— M MN <t = LN <t 00— 00 CO 0O

— N OO N
NoO NN

!

NZ 8-S86NIA ZTN 1T LNN X3H

NZ TEO6NIA 8°8 O0TXZTW MIUDS X3IH
d3T11L 404 DNIHSNA

NZ 8-S86NIAd ZTIN 11 LNN X3H

NZ VSZINIA 0¢N 31V1d-d3d

NZ €E6NIA 88 0SX0ZIN MIUDS XIH
NZ 8-S86NIA OZW 11 LNN X3H

NZ TEO6NIA 88 00ZX0ZIN MIEDS X3H
NZ €E6NIA 88 OCTX9TIW MIEDS X3H
NZ VSZINIA 9TIN 31V1d-d3d

NZ 8-S86NIA 9T 11 LNN X3H

NZ TEO6NIA 88 OOTXI9TIW MIUDS X3H
SYITTIL 404 ANVH ¥31dIN

9:x09x09 DN'1d YINNI

DNIHSNA

d3aTanassy I1vosS

0ST-SL DNIYdS-MVvHd

DNIYdS 404 M3¥DS DNINALHDIL
3DV DNIHSNA

S31V1d OL 1HOHS DNIHSNA

SINYV ¥3A31 OL Nid

ddld 3LVIA3INY3LNI

1PIDOVES INFWHOVLLY

dVva DNILDINNOD

WYV 43AT

AdO9 Ol ANv3d

AdO9 Ol Nv3d

NZ VSZINIA ¢TI 31V1d-d3d

31V1d DNPDIDOT

NZ €E6NIA 88 SEXZTIN LNN X3IH
SY3T1IL 404 AQO9d

SYITTIL 404 AQO9d

SOd 0007 OMLSIVIN  SOd 000€ OULSIAVIN 13av

YIOETIDOOV (€
YIOIVEDOV TE€
v6//T1 O¢
YTIOETIODV 67
vZ0ELT199 8¢
0S9€ETV /¢
YIOETITIDV 9¢
YISTI910V  S¢
vZSTOYD0V ¢
¥ZS¢0TIDSE  €¢
YIOETIDDV ¢
CISTIVEDOV T¢
60I8T 0¢
S0909d 8T
L8941 /1
¥0I8T 91
918¥€3 ST
¢6LlT E1
¢SLLT 1
1S24T 11
L6V/.T O
66v/.1 6
140741 8
19v/1 L
LSYLT 9

€081
v8¢/L1 S
t¢02400S49 14
0941 €
YISISIOOV ¢

81281
149741 !
30090 lLivd

V4



